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PR S ZRNESZRERIZAR:

cos(a—pf)=cos acos B + sin asin S,
cos(a+ f)=cos acos f — sin asin f;

sin(a — ) =sin acos f — cos asin SB;

sin(a+ f)=sin acos f + cos asin .
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tan o +tan
tan(a + B) = P 5
1-tana-tan S O
tan o —tan O
tan(a — f) = p

1+tana-tan B
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¥ il%lcosA:%, ﬁsinAzg.

sin C =sin|7z — (A + B)] =sin(A + B)
=sin2A =sin( A+ A)
= sin Acos A + cos Asin A
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A B —2sinAcosA=2x—x—="—,
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sin 2a = sin(a+ @) =sin @ cos a+ cos asin @

= 2sin a cos «;
cos 2a = cos(a+ @) = cos @ cos a—sin asin a

= cos’a —sin’a;



tana + tan o

tan 2a=tan(a+ a) = | tand . tand

3 2tan o
1—-tan’a

FIFH sinZa + cos2a=1, cos2a BBH]ZEN

cos 2a = cos’a—(1—cos’a) =2cos2a—-1;

cos 2a= (1-sin’a)-sin*a =1 - 2sin’c.
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sin2a =2sinacosa
cos2a =cos’ a—sin’ &
cos2a =2cos’ a—1;
cos2a =1-—2sin’ a;

2tana

tan2a = ;-
1—tan“
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7. (1)sinda = 2sin2a cos2a ;

o a
a

(2)cos 5= cos’ 4 —sin’ ;
(3)cos & _ ) cos’ =
3 2 6 1,
(4)tan 3a = - tanz
7 3a
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2cos’a=1+cos2a;: 2sin’°a=1--cos2q;

5 1+cos2a . , 1—-cos2a
Cos” a = 5 ; sin"a = i ;

tan2a (1 —tan’ a): 2tano;

2tana

1-tan’a = .
tan 2o

4. EEARBIEH:
1

sina cosa = Esin 20 cos’a—sin’ a = cosa;

2tana

PR — tan2q; 2tana:tan2a(1—tan2a).
—tan’ a
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1-tan" a
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RT3 & AHIME:
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(1)sin15°cos15°. (2)cos’ ' sin” PY

2tan22.5° 2
3 . (DH1—2sin"75.
( )I—tan2 22.5° “4)
1
ﬁ@ (l)ﬁit: %(ZsinIS0 cos15’) = %sin30° — Z
J2
@R = cos%z PR

)RR = tan45° — 1

(4)E:T‘—E= cos150° = cos(180° — 30°) = —cos30"=— ~
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